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1. Choose the correct statement about Bharatnet scheme
1. BharatNet is a flagship project implemented by Bharat Broadband Network Limited (PPNL).
2. It is a Special Purpose Vehicle (SPV) set up by the Government of India under the
Companies Act, 1956 with an authorized capital of Rs 1000 crore
3.At present, it is implemented by the Department of Telecommunications under the Ministry of
Communications.
4. National Optical Fiber Network (NOFN) was launched in October 2011 and renamed as
Bharat Net project in 2015.

(A) 1 only correct (B) 1,2 only correct

(C) only 1,2,3 are correct (D) All are correct

(E) Answer not known

uUMoSemL HL uprlw sflwneor gamnilemerr CaIey 6\FLIS

1. uMDSEBL ereoug UMD  omiGuetor.  QpLEeeumTS  edSle L  (Siileredtered)  eLpeLLD
QFWELL(BSSLILDBLD Q(H (PSHEOTEMLD HIL L LOMSLD.

2. @5 1956 oHb pevoi(® HimeueTRIGET FLLID, 1000 G&mg eBUML SikSsSsli L
cpuseTHHer Sp ShH STFTRIGSSHTH Semwdslu’L @m iy Crréss HLLnEh

(SPV).
306U, B& 556U AFNLIL nEFHHH 60T Sp 2 _6Ten ABHTEMVFHOGMLIL HIEMMDITED
WL SSLILBHMDE.

4. Gadw L9860 SoemULT ABLeeUNTS (NOFN) 2166LmuT 2011 6 OFMLRSLILLL &) LHMID
2015 60 UMTS QL HlLL1ons meflL il L g).

(A) 1oL@BD &l (B)1,2 wL@w &l

(C) 1,2,3 wL(Bw & (D) siemenrs &b &ifl

(E) eflemL a\iflieflebeme

2. In which year was the Cauvery — Gundar link project launched?
(A) 2004 (B) 2005 (C) 2006 (D) 2007
(E) Answer not known
&MGeurfl — &evorLmm) ewevorli|d SILID 6hS Spe00T1(B OSMLMHISLILLL &)?
(A) 2004 (B) 2005 (C) 2006 (D) 2007
(E) eflemL e\sflwieilsbemen

3. Which company developed the Tamil learning SMS app?
(A) Agaramuthali Directorate
(B) Tamil Classical Institute
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(C) Tamil Nadu Department of School Education

(D) Tamil Nadu Text Book Corporation

(E) Answer not known

SOID HOHMEL GSMIEHOFIIH LIeTUTL (B FWedlemil 2 (Heuns&i [FiMIeu6oTD 618 ?
(A) 218I1360 SWideEsLD

(B) s15llp ex&bewME HlmieueotD

(C) sWlpmn® ueiefl &evellSgHIemMn

(D) s151pmHmB LML ETEL SLp&L0

(E) elemL a\&flielebemen

4. Consider the following statements, with respect to Vaikom Satyagraha
1. It was a violent protest against the British government.
2. K P Kesava Menon and T K Madhavan were the personalities who led the movement.
3. The movement was supported by Mahatma Gandhi.
Select the correct answer using the code given below
(A) 1& 2 only (B) 2 &3 only
(C) 1& 3 only D)1,2&3
(E) Answer not known
MEUSHHLD FHFWINETHD OFHMLITUMES LI60T6UIHLD SANI&HEMEBEHEM6NSH &6U6D ILhIS6IT
1. @5 9l 1969 SIT&&HS eTHITment euedT(pemML GLTTMLLLD.
2. B&.19.Gss6u Geoteot LHMID 19.C&H.oMSHEUET QUISHSHSHMS SUPIHL S S EHEDLOSHEI.
3. BW&EID SHTHLOM SMHSILITED ShSIfISSLILILL .
EBl aanBésLLLBeer GMIUILenLL LweTLBSHEH aflwiner udHenevd CaIHOGHBHSD
(A) 1& 2 wLLEBGW (B) 2 &3 L BGwW
(C) 1& 3 wL{BGW D)1,2& 3
(E) eflemL a\gflielebemev

5. Consider the following statements, with respect to Index of Industrial Production (IIP)
1lt is released by National Statistical Office (NSO)
2. Core industries accounts nearly 50 percent of the weight of items included in the IIP.
Which of the statements given above is/are correct?
(A) 1 only (B) 2 only
(C) Both1and 2 (D) Neither 1 nor 2
(E) Answer not known
enflegienm 2 Husd GBI (IP) esmiune WeTeub AHMHEnHSHm6TEH &eUeoflrhkiSHei
1.85 Cadlw yemafluiwed sigieuans:gsmed (NSO) eeuefluii il gi
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2. gmiuied Gardaslul(Beter aUMBL&efler eremLuled HLSFH L 50 F5H6i55H6m (WSS
QFHMPIELSBET C1&HMT6TOT(R6TETS).

GuwGev a&MB&HsLILLL Sapmisefled ergl siflwimeorsi/ sfluimeors?

(A) 1 LLGBGW (B) 2 w®Gw

(C) 1 oHmd 2 yevor(HLd (D) 1 2160608 2 Beemev

(E) elemL 6\giflwieflebemev

6. Consider the following statements, with respect to Pradhan Mantri Fasal Bima Yojana
1. It covers Rabi and Kharif but not the horticultural crops.
2. Under the scheme, there will be uniform premium of 2% to be paid by farmers for Kharif
crops and 1.5% for Rabi crops
3. Under the scheme, there is no upper limit on Government subsidy
Which of the statements given above are correct?
(A) 1and 2 only (B) 2 and 3 only
(C)1and 3 only (D)1,2 and 3
(E) Answer not known
Wgeneor  RHH  Lused Som  Gunmentm  Q@ILIUMET  Ne0TEUHD  SIMHem&HEHEmETE
&eueflhiseT
1. 85 19 wHnb &Mfsl SySeunenn 2 6Ten &HElg eommed GaHMLEBeme0 LIUT&eT
S1606V.
2. @5 L sHletn &L, eleusnuiser sfleell LUITHEHES 2% LHMID TM LUITSEHHES 1.5%
&G wndflwiner NfiSlwions eeaidHs Geuetor(BL.:
3. @53 L Gdler &, oira: wneoflwdHed 2 &F& eumbL Qevemev
GG e&MBS&LILLL snpmiserfled erg sflwimeorg)?
(A) 1 OHMID 2 WL GEW (B) 2 wommud 3 L BEW
(C) 1wHmb 3 WL BHEW (D) 1,2 wOHMID 3
(E) eflemL a\gflielebemev

7. Why is there a great concern about the microbeads that are released into environment?
(A) They are considered harmful to marine ecosystem
(B) They are considered to cause skin cancer in children
(C) They are small enough to absorbed by crop plants in irrigated fields
(D) They are often found to be used as food adulterants
(E) Answer not known
SHMIFSPe060 eeuafluiiriLBLD miesoresmiufifleemerti LD eT60T MFHSH SbHHeMM 2_6iTeTs)?
(A) siem6y BL6D GHMIEELP SNemLILEES Shi@ elenerelliLgned smslLBHDE
(B) siemer GWHemSsEHsHE CHMed UHMICHTemW anLBSH5IUsT5ES SHSLILGEADE
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(C) ungeor euweLsafled LUIT EFI&6TTED ©_Mleh&D SieMeYsHE Siemeu FiMliemeu
(D) siem6u ILEHLOLMEYID 2 _600T6Y& &HEVLILILThI&6MTSL LUI6OTLI(BSSLILI(B HeoTmenT
(E) eflemL ezflieilsvemev

8. Which of the following countries make up the "lithium triangle."

1. Argentina 2. Bolivia 3.Chile 4. Brazil
(A) 1,4 and 3 only (B) 1,2 and 4 only
(C) 2 and 3 only (D) 1,2 and 3 only

(E) Answer not known
Wetteu(mld HIBserfled 618 "e0IHSWID (W&ECaHMTTHEmS" 2 (HeUTSHESHDE.

1. SITE\Q60TLq.60TIT

2. ewuneSlelwim

3. dled

4. 9Ggpdled

&Gl ean(BdaLiL’Berer GHUILemLL1 LweUBSHS Fflwimeor uHlemevd BaITHOISBHEBEYLD.
(A) 1, 4 oOmid 3 WLBGW (B) 1, 2 Hmd 4 WL BGW

(C) 2 oMb 3 WL BEW (D) 1,2 HmId 3 L BEW

(E) eflemL e\gflweilsbemen

9. Arrange the following states in ascending order of their wheat production

1. Bihar 2. Punjab 3. Uttar Pradesh 4. Madhya Pradesh
Select the correct answer using the code given below

(A) 2-3-4-1 (B) 3-4-2-1

(C) 3-2-4-1 (D) 2-3-4-1

(E) Answer not known

Uetteuplo  omflevrkisemer  Seupmledr Cangemw 2 _pusluiedr  amieuflensuied
auflenFlILBSHSED

1. Sani

2. LgpaLl

3. 2_samiiinCaaid

4. 1053w ViFCsHaid

&Gl aanéslu’BeTer GMUILemLL LweTu®BSHS sflwiner ufenevd CaIHOSBHSED
(A) 2-3-4-1 (B) 3-4-2-1

(C) 3-2-4-1 (D) 2-3-4-1

(E) eflemL a\3ifliielebemen

10. Consider the following Statements, with respect to Tuberculosis (TB) disease
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1. It is bacterial communicable disease which can spread from person to person through the
air.

2. India accounts the highest number of TB cases worldwide

3. Government of India decided to eliminate TB by 2025 which is ahead of ahead of global
target by World Health Organisation.

Select the correct answer using the code given below.

(A) 1and 2 only (B) 1 only

(C) 2 and 3 only (D)t,2and 3

(E) Answer not known

&ng@mmil (TB) Grremwlll eLTMISS6U6mT, LIe0TeU(HLD HM&HensH856m6TdSH SHeU6DfILHhigH6T

1. 85 @ utseflur easmmm CrmunE, && smhmler cped QEHelLOEbHS
LOHEDTIHEUBSES LITEYSDE).

2. o eaaelsd) &TEGHMUTE LUTHesLUL Leuisefledr  eretoreolibemauley  SbSwim
(WaOILsHleL 2_arTens)

3. 2 w5 &HMeMT Sienwliler 2 esemmeill Qesems il 2025 S Sy 6eToTIgDESET
&MECHTenW SSHHD SHHI SiTs (Lp1q6Y CFUISIETETS.

EBl aanBésLL.BeTer GMIUILenLL) LGS siflwinerr udlened GG HEHSELD.

(A) 1 oM 2 L BHGW (B) 1 oL BC

(C) 2 wHmid 3 WLBGW (D) 1,2 wOMIDO 3

(E) eflemL a\gflielebemev
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ANSWER KEY

1 2 3 4 5
D C A B A
6 7 8 =) 10
B A D B D
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